B—EE E548 : B1Ch1-1~Ch2-1 —% 6 B SENES

T~ 2 FRR(HNE X0 %A A BT A I & AN~FZabcAER > Fat+b+c=6’ ab+bc+ca=11 " A
— B A ELEIOMHE DI DA E a’+b*+c’ =
Fl:yzal(x—2)2—|—1‘Fz:y:aQ(x—Z)z—Fl‘F3:y:a3(x—2)2—|—1 ’ _
KAV T 7] & AR Y EAEHE %‘6ﬁx=£ii§’%f+%=
' V5443 x
(—) ~a,>0. (=) ~a,;>0.

SotERMAR (BABRALS)
(Z)  a>a>a,. (®@)  a+a;>0, — BAREX 2x—2<|]x—3 (8 %)

Z S EAEHRT.
(=) x=02 axm (=) 106 # % 32 #.

(=)  0d<1. () B BT B L K,
3 = EFHaymRx—3<2 2y—3|§1 HRE AT &N
(—) xeh&E (2 2) (=) ywgE. (24)
gD (=) 2wuE @) (v8) 2043y -6 88 E.G »)
e X hint : B X 5 #
ST, = (ESTN
S B— 1o’ (—) (=)
ACHEAA (B £605)
— B oALETHEGtEE (£ 4 L THRBY
ME) BB FEE LR RZEGALE EMRGE
o BI#FR &N H AT I — A2 B EE ?
un—4.&9—340—2.a»—%.m»—LoANs: . (2 (w)
o ZEHfBER T F)=5" f@Q)=2 " f3)=4"
f@)=1" f5)=3 " Fu,=3BHAn>0 » %
u, = fu,) 1’ A 1y, = )
= RRMEEREARERE > RS 40 5 RIK1S o
PR UL E B 67 A8 Bk — RA R w0 E 40 2% Ak 100
0 15 5960 & 2 5T 5] 50 = BEREdy = f(x) 9B EE(2,3)~(1,0)~(4,3) =8
(—) Z2thjn ) —REHE _ EEN RIS
(=) Jay ok o 3 AE 70~80 5> Cho R4 s > (—) flx)BxwRE(25) (=) f(x). (65)
FHIEHE Jay RETHT A ° (=) mEEZ (245) (w) #HmmyraEX (245)
(RS
(—) (=)
W y=xFx+ BB E x LT iITHEEa Em o Sy
e LT B BB y = —x— 1B ER K
M #¥ (a,b)=
A~ RabBHBTE Elax+4>b0EEx<-2 orx>6 > Rl
# ¥ (a,b)=
(=) (m)

s Bk y = —|x— 5| wE

£~ AR 2x+1|+]|x—2[+2x=8 > Alx=



